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B & ® H FEN RE B =2 AN -B)
NEREEZEIA 22,815,000 | 22,139,017 675, 983
BENEZENEHRIA 1, 000, 000 1,070,120 AT0,120
)} NEEFHZENEFIRA 1, 000, 000 1,070,120 AT0,120
ZTDHDEEIIRA 21,815,000 | 21,068, 897 746, 103
ZEEEFEIA 21,815,000 | 21,068, 897 746, 103
A | ZDHDIXA 1,000 0 1,000
HURA 1,000 0 1,000
FEFHIRAG 1) 22,816,000 | 22,139,017 676, 983
AHEZH 20,638,000 | 20,525,194 112, 806
= BEHRHIH 11,638,000 | 11,669, 614 A31,614
BEESXH 3,353, 000 3,428,100 AT5,100
EEEBERE L H 1,815, 000 1, 756, 800 58, 200
% BRI 911,000 913, 880 A2, 880
EERAEXEN 2,921, 000 2,756, 800 164, 200
FEEXH 775, 000 674, 449 100, 551
& HWEREXH 350, 000 339, 020 10, 980
REGEERE 40, 000 6, 000 34,000
wWARE X H 10, 000 0 10, 000
| X BEREEXL 130, 000 204, 255 AT4, 255
BRAREXH 30, 000 5,373 24,627
HEREREREX T 180, 000 104, 621 75, 379
(< RIEHZ H 5, 000 0 5, 000
HEEZH 20, 000 15,180 4,820
M 10, 000 0 10, 000
&£ EHREXH 1,403, 000 939, 374 463, 626
=EIEAEXRE 155, 000 162,178 AT,178
BEWHREXSD 25,000 0 25, 000
Z) REXBEEXH 20, 000 2,500 17,500
PHEMRE X H 220,000 170, 150 49, 850
ERHEREXH 150, 000 95, 383 54,617
I | & RIS AREXZ H 15, 000 0 15, 000
BIEEREH 300, 000 226, 582 73,418
SREXH 10, 000 1,738 8, 262
* EBRAEXH 250, 000 167, 360 82, 640
FHHIH 33,000 7,150 25, 850
RIEFHZH 5,000 0 5, 000
EfHEH 100, 000 79, 950 20, 050
FARAEX N 60, 000 6, 806 53,194
REH I H 10, 000 0 10, 000
HeEXH 10, 000 1,000 9, 000
X 40, 000 18, 577 21,423
EEFBZHE 2 22,816,000 | 22,139,017 676, 983
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